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x=[1,"%+%",3,6,10]

x.append( 'peekaboo')

x.1nsert(3, 'safari"')

X.pop(1)

print(x)

print('safari' in x)
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7.a=[ ‘saw’, ‘small” , “He’, ‘foxes’, ‘six’]

print(AD (1))

##ﬁ%ﬂiz[‘He’, ‘saw’, ‘six’, ‘small’, ‘foxes’]
8.a,b,c,d=1,3,4,6

a,b=c,d

print(b)

()

9.dl={"'a":'How are you today?', 'b':[1,3,45,89]}

='today 1s very hot'

print(dl)
print(@QY ('b', RFAI))
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" { (mutable) A 7134 i (sequence object)

(sequence object) » i ¥-giﬂju§§

##fw 1 ("a':'How are you today?', 'b':[1,3,45,89], ‘c’:"today is very hot’}

i 12 [1,3,45,89]
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dist() Sk

1, 3, 'safar1', 6, 10, 'peekaboo']
rue

CFEIR()

ctuple() S

LB ¥ (positional)

10. B 425 S8 (keyword)

11.sorted

12.a, key=len

13.6

14.d1["c']

15.d1.get
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my dict={‘a’:1,’b’:2 r:3}
print(len(my dict)
#fiz 4 1 3
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(l)clear() : #
my dict= {‘a’ l,
my dict.clear()
print(my dict)
#im L[

(2)copy() : EEw F & - BRAFH o
my dict={‘a’:1,”b’:2}
new dict=my dict.copy()
print(new dict)

#ﬁﬁﬂii {‘a’":1,’b":2}

(3)fromkeys()
keys=[ ‘a’, ‘b’, ‘c’]
new _dict=dic. fromkeys(key,0)
print(new dict)

#ﬁﬁﬂ {‘a’:0,"b":0,"c’:0}

(4)get() *
my dict={‘a’:1,’b":2}
value=my dict.get(‘a’:0)
print(value)
value=my dict.get(‘c’:0)
print(value)

#ﬁﬁﬂii 0

(5)items() * Ew F & ¢ 75 4EEHMRE o
my dict={‘a’:1,’b":2}
1tems=my dict.1tems()
print(items)

#ﬁ%ﬂii dict 1tems([(‘a’,1),('b",2)])
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